#PEACHYBUCKETHAT

peachy bucket hat
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FRAYA 3038

#PEACHYBUCKETHAT

ABBREVIATIONS:

st = stitch

cs = chain stitch

sls = slip stitch

db = double crochet

inc = increase, work 2 db in the same stitch
rnd = round

Designed by Bente Dalsgaard Andersen

PATTERN
The hat is worked in double crochet in a spiral. It is a big help to place a stitch marker or a piece of
scrap yarn at the beginning of the round. Let it follow up through the wark, from round to round.

Size 2 years (4 years] 6-8years[S] M [L]
Measurements 50 (52] 54 (56]) 58 (60) cm

CROWN:

All sizes:

Begin with 2 cs - or a magic ring.

Rnd 1: 6 db in 1st cs [or in the magic ring].

Rnd2: 1incineverydb=12db

Rnd 3: *1 db, 1 inc*, repeat *-* a total of 6 times = 18 dh

Rnd 4:1 dh, *1inc, 2 db*, repeat *-* a total of 5 times, 1 inc, 1 db = 24 db
Rnd 5: *3 db, 1 inc*, repeat *-* a total of 6 times = 30 db

Rnd 6: 2 db, *1 inc, 4 db*, repeat *-* a total of 5 times, 1 inc, 2 db = 36 db
Rnd 7: *5db, 1 inc*, repeat *-* a total of 6 times = 42 db

Rnd 8: 3 db, *1 inc, 6 db*, repeat *-* a total of 5 times, 1 inc, 3 db = 48 db
Rnd 9: *7 db, 1 inc*, repeat *-* a total of 6 times = 54 dh

Rnd 10: 4 db, *1inc, 8 db*, repeat *-* a total of 5 times, 1 inc, 4 db = 60 db
Rnd 11: *9 db, 1 inc*, repeat *-* a total of 6 times = 66 db

Rnd 12: 5 db, *1inc, 10 db*, repeat *-* a total of Stimes, 1inc, 5db=72db
Rnd 13: *11 db, 1 inc*, repeat *-* a total of 6 times = 78 db

Rnd 14: 6 db, *1 inc, 12 db*, repeat *-* a total of 5 times, 1 inc, 6 db =84 db
Size 2 years ends here. Do not break the yarn.

Rnd 15: *13 db, 1 inc*, repeat *-* a total of 6 times = 90 db

Size 4 years ends here. Do not break the yarn.

Rnd 16: 7 db, *1 inc, 14 db*, repeat *-* a total of 5 times, 1inc, 7 db =96 db
Size 6-8 years ends here. Do not break the yarn.

Rnd 17: *15 dh, 1 inc*, repeat *-* a total of 6 times = 102 db

Size S ends here. Do not break the yarn.

Rnd 18: 8 db, *1 inc, 16 db*, repeat *-* a total of 5 times, 1 inc, 8 db =108 db
Size M ends here. Do not break the yarn.

Rnd 19: *17 db, 1 inc*, repeat *-* a total of 6 times = 114 db

Size L ends here. Do not break the yarn.

SIDES:

Size 2 years - 6-8 years - M:

Rnd 1: 1 db in the back loop only of every st.

Rnds 2-4: 84 - 96 - 108 db

Rnd 5: *13 - 15 - 17 db, 1inc*, repeat *-* a total of 6 times =90 - 102 - 114 db

Rnds 6-7:90 - 102 - 114 db

Rnd8:7-8-9dh, *1inc, 14 - 16 - 18 db*, repeat *-* a total of 5 times, 1inc, 7-8-9db =96 -
108 -120dh

Rnds 9-10:96 - 108 - 120 db

Rnd11: *15-17 - 19dhb, Linc*, repeat *-* a total of 6 times =102 - 114 - 126 db

Rnds 12-13:102 - 114 - 126 dh

Rnd 14:8 - 9-10db, *1inc, 16 - 18 - 20 db*, repeat *-* a total of 5 times, 1 inc, 8 -9 -10dh =

£l

SIZE MEASUREMENTS

2 years 50 cm
4 years 52cm
6-8years 5S4cm
S 56cm
M 58 cm
L 60 cm
YARN

Colourful FRAYA
100 % Cotton
50g=170m

YARDAGE
Slze 50 (52) 54 (56) 58 (60)
100 (100) 100 [100) 100 [100] g

CROCHET GAUGE

Measured over db worked with size
11 (3 mm) hook:

24 dbx 28 rows=10x 10 cm

SUGGESTED HOOK SIZE
UK size 11 (3 mm] crochet hook

Please note: It is important to ob-
tain gauge. The work should have a
close texture. Try with a smaller or
larger needle if necessary.

Non Commercial - You may not use this
material for commercial purposes.
Copyright © 2021 FRAYAYARN.COM
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#PEACHYBUCKETHAT

108 -120-132db
Work 6 - 8 - 10 rnds straight down without inc = the sides consist of 20 - 22 - 24 rnds and you
have 108 - 120 - 132 sts.

Size (4 years] - (S] - [L):

Rnd 1: 1 db in the back loop only of every st.

Rnds 2-4: (90) - (102) - (114) db

Rnd 5: (7] - (8] - (9] db, *1inc, (14) - (16] - (18] db*, repeat *-* a total of 5 times, 1inc, (7] - (8]
-(9)db=(96] - (108] - (120]) db

Rnds 6-7:(96] - (108] - (120] db

Rnd 8: *(15] - (17] - (19) db, 1 inc*, repeat *-* a total of 6 times = [102] - (114] - (126] db
Rnds 9-10: (102] - (114] - (126] db

Rnd 11: (8] - (9] - (10) db, *1inc, (16] - (18] - (20] db*, repeat *-* a total of 5 times, 1 inc, (8] -
(9) - (10) db = (108] - (120] - (132]) db

Rnds 12-13: (108] - (120] - (132]) db

Rnd 14: *[17]) - (19] - (21) db, 1 inc*, repeat *-* a total of 6 times = (114] - (126] - (138) db
Work (7] - (9] - (11] straight down without inc = the sides consist of [21] - (23] - (25] rnds and
you have [114] - (126] - (138] sts.

BRIM:
Size 2 years - 6-8 years - M:
Rnd 1: *5db, 1 inc*, repeat *-* a total of 18 - 20 - 22 times = 126 - 140 - 154 db

Size 2 years:
Rnd 2: *20 db, 1 inc*, repeat *-* a total of 6 times =132 db

Size 6-8 years:
Rnd 2: *34 dh, 1 inc*, repeat *-* a total of 4 times = 144 db

Size M:
Rnd 2: *76 db, 1 inc*, repeat *-* a total of 2 times = 156 db

Size 2 years - 6-8 years - M:

Rnd 3: *21 - 23 - 25 db, 1 inc*, repeat *-* a total of 6 times =138 - 150 - 162 db

Rnd 4:138 - 150 - 162 db

Rnd 5:11 - 12 - 13 db, *1inc, 22 - 24 - 26 db*, repeat *-* a total of 5 times, 1inc, 11 - 12 - 13
db =144 -156 - 168 db

Rnd 6: 144 - 156 - 168 db

Rnd 7: *23 - 25 - 27 db, 1 inc*, repeat *-* a total of 6 times = 150 - 162 - 174 db

Rnd 8: 150 - 162 - 174 db

Rnd 9:12 - 13 - 14db, *1inc, 24 - 26 - 28 db*, repeat *-* a total of 5 times, 1 inc, 12 - 13 - 14
db =156 -168 - 180db

Rnd 10: 156 - 168 - 180 db

Rnd 11: *25 - 27 - 29 db, 1 inc*, repeat *-* a total of 6 times = 162 - 174 - 186 db

Size 2 years:
Rnds 12-14:162 db

Size 6-8 years - M:

Rnd 12:174 - 186 db

Rnd 13: 14 - 15db, *1inc, 28 - 30 db*, repeat *-* a total of 5 times, Linc, 14 - 15db = 180 - 192
db

Rnd 14: 180 - 192 db

Rnd 15: *29 - 31 db, 1 inc*, repeat *-* a total of 6 times = 186 - 198 db

Rnd 16: 186 - 198 db

Size M:

Rnd 17: 16 db, *1 inc, 32 db*, repeat *-* a total of 5 times, 1 inc, 16 db = 204 db

Rnds 18-19: 204 db

Size (4 years] - [S] - [L):
Rnd 1: *5 db, 1 inc*, repeat *-* a total of (19] - (21] - (23] times = [133] - (147]) - (161]) db

Size (4 years]:
Rnd 2: 1 db, *(21] db, 1 inc*, repeat *-* a total of 6 times = (138] db

Size [S]:
Rnd 2: *(48] db, 1 inc*, repeat *-* a total of 3 times = (150] db
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Size [L):
Rnd 2: (79]) db, 1 inc, 80 db = (162] db

Size (4 years] - (S] - (L):

Rnd 3: (11] - (12]) - (13]) db, *1inc, (22] - (24] - (26] db*, repeat *-* a total of 5 times, 1 inc, (11]
- (12) - (13) db = (144] - (156] - (168]) db

Rnd 4: (144] - [156] - (168]) db

Rnd 5: *(23] - (25] - (27]) db, 1 inc*, repeat *-* a total of 6 times = (150] - (162] - (174] db

Rnd 6: (150] - (162] - (174] db

Rnd 7: (12] - (13]) - (14]) db, *1inc, (24] - (26] - (28] db*, repeat *-* a total of 5 times, 1 inc, (12]
- (13) - (14) db = (156] - (168] - (180) db

Rnd 8: (156] - (168] - (180] db

Rnd 9: *(25] - (27] - (29) db, 1 inc*, repeat *-* a total of 6 times = (162] - (174] - (186] db

Rnd 10: (162) - (174) - (186] db

Rnd 11: (13] - (14] - (15]) db, *1inc, (26] - (28] - (30) db*, repeat *-* a total of 5 times, 1 inc,
(13) - (14] - (15) db=(168]) - (180] - (192]) db

Rnd 12: (168] - (180] - (192] db

Rnd 13: *(27] - (29] - (31) db, 1 inc*, repeat *-* a total of 6 times = (174] - (186] - (198) db
Rnd 14: (174) - (186) - (198]) db

Size [4 years]:
Rnd 15: (174) db

Size [S] - (L):

Rnd 15: (15] - (16] db, *1inc, (30] - (32] db*, repeat *-* a total of 5 times, 1 inc, (15) - (16) db =
(192) - (204) db

Rnd 16: (192) - (204) db

Size [S]:
Rnds 17-18:(192] db

Size [L):

Rnd 17: *(33]) db, 1 inc*, repeat *-* a total of 6 times = (210] db

Rnd 18: (210] db

Rnd 19: (17] db, *1 inc, (34) db*, repeat *-* a total of 5 times, 1 inc, (17]) db = (216] db
Rnd 20: (216) db

All sizes:

1 sls, turn to wark from the wrong side.

Work a rnd of sls. Make sure not to crochet sls too tightly - if so, the brim will rall.
Break the yarn, and weave in ends.
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